EHNMBILBRET 102 24 B 2 - SPAERBUBEHE _RELRE
PER B A

STREAE A4
— AR (544 5]

I~ 9624 1 2 B P AR K = .
2~ FUBSBA AL T 74K

2 —
(1) 7;5:.,
(2) ._._.......3............. =
V6 ++/2
3+ Wil R A AAE ¢
(D) V57 =57 (B) (/5 =52 (C) —/(=5)% =5
A~ HETHEXHBE(EREILDE)

(1) 2;/§x(6«/g)+«/1—8_=

(2) (V8-V6)W12+418) = .
S B Rt~ S RS MEAZABEREA(H 13 4-5)
& o (IR M)

6~ AERT®EH R AGS, -1) B(2,5) 1 £4B=
T FHMEEEXL AR SBA L -9EL ? o (RH ALY
(A x+3 (B x-3 () (x-30 D) x*~9 (5) 1

8~ B4 MTH AR
(1) 5x*—15x = R

(2) 3x2""48= o

" (3) & +10ab+25p% = o

9 B4 % HK6x" +5x+1T B X 584 GBx+ 1) mx+1) » 8] n=

10~ FRUTH & 2* ~6x+9F0 2" ~9 gy AE K7
(A x+3  (B) x-3 (0) (x-3fx+3) (D) x*+9

11~ BA5BFHER
(1) (=2 (x=3)-Q2~2)@-x) =

(2) (x2 HSa)—(Swa)xm
12 ~ £ 2013 +1987% + 2% (2000* —-13%) =

[# @A)



13~ 2x* ~16x+a TR, \%&2(x+b) Fa+b=
14> AKX ATEXSMAEO(x+2) 2x~1) » $3AX B TH K 25 3(x+1){2x 1)

' 3§ A%~ BT B R AR A 0 A D
15 ~ ho [ > ABCD & 10 WhEH 7 B’“ DF ~ DG ~ DH # L% £
BHEE S RDF-DH= o
16~&ut§i'ABCDLF_75”ﬂ3’ﬁzlﬁ%ﬁi@]O%ﬁéﬁ’ A 5 ; VAN
ADmEisE ¥ B L BOBWBBCHTE
Kk AD= o
=4 (A4 4] EB 0 C F
AR —x' + ) (x-1x+1)=? 2 K(x+2)(x~3)+x+2)2x+7) Fu 9x*~16 84
—RAER 9
3t AMABCAEAZAM T LAENY > RAFE - &
EFHEHHA 26 LHRHS 16 RBHBHE? Tz
c "A
3l

4~ o5 » ABCD BEHF 0 35 D RIXEF B HPEB R
H¥ AB=10> AD=18+ £ FG=? |




